5321EC

Soft close

Load rating up to 100kg
100% extension
19.1mm slide thickness

Suitable for drawers up to
1000mm wide

Opening pull force

26N = 5N

Soft close on last 45mm of
closing cycle

Optional bracket accessory kits
for various mounting options

.

.

.

.

Fermeture automatique avec
amortissement

Charge jusqu'a 100kg
Course 100%

Epaisseur de glissiere de
19,1mm

Convient pour des tiroirs jusqu’a
1.000mm de largeur

Force d'ouverture 25N += 5N

Fermeture amortie 45mm avant
la fin de course

Kits d'accessoires d'équerres

» Gedampfter Selbsteinzug

« Lastwert bis 100kg

« Vollauszug

» 19,1mm Schienendicke

 Passend fUr Schubladenbreiten
bis 1000mm

» Auszugskraft 25N = 5N

Soft Close-Dampfungssystem

auf den letzten 45mm vor der

geschlossenen Position

» Optionale Winkelzubehorsatze
fur diverse

C— en option pour convenir aux Montagemaglichkeiten
m divers types de montage
R sL
H D
G C
B
F A
26.0 32.0 26.0 32.0
> T =< oo T >—&
ACCESS SLOTS ‘ 416 t
6.60 +0.2
(083507 + DZ5321-0080EC-A (Q:;égo:g%oz)
19.6 - 20mm e
mm kg
5321EC
SL TR A B C D E F G H W |L (450mm*) [L (1000mm?*)

DZ5321-0040EC | 400 [ 388 | 160 | 192 - - 128 | 160 - 288 11.99 65 55
DZ5321-0045EC-A| 450 | 450 [ 160 | 192 [ 256 - 128 [ 160 - 320 |2.27 65 55
DZ5321-0050EC | 500 | 500 | 192 | 224 - - 160 | 192 - 384 |2.57 70 60
DZ5321-0055EC 550 | 550 | 192 | 224 | 320 | 352 | 160 | 192 - 416 |2.87 85 72
DZ5321-0060EC 600 | 600 | 256 | 288 [ 384 | 416 | 192 | 256 - 480 |13.18 100 85
DZ5321-0070EC-A| 700 | 700 [ 288 | 320 | 448 [ 480 | 256 | 288 | 512 | 576 [3.79 100 85
DZ5321-0080EC-A| 800 | 800 | 352 | 384 | 576 | 608 | 320 | 352 | 416 | 672 |4.42 90 75
DZ5321-0090EC-A| 900 | 900 [ 320 [ 352 [ 544 [ 672 | 320 | 448 | 736 | 768 [4.96 85 70
DZ5321-0100EC-A|1000( 1000 | 352 | 384 | 640 | 768 | 352 | 384 | 704 | 736 |[5.56 80 65
DZ5321-0110EC-A|1100(1100(| 416 | 448 | 768 | 800 | 416 | 448 | 544 | 960 [6.18 75 60
* Drawer widlth / Largeur de tiroir / Schubladenbreite

Notes: Notes: Hinweise:

countersunk Euro screw

Vertical (side) mounting only

handle is used on wide drawers

For bracket accessory kit see 635xx
Operating range 10°C - 40°C

Please refer to 2D CAD drawings for dimensional

tolerances

Fixing recommendation: M5 countersunk/ 6mm

We recommend that a centrally positioned pull

téte fraisée diametre 6mm

.

Montage sur chant uniquement

Visserie recommandée: M5 téte fraisée/Eurovis a

* Nous recommandons d'utiliser une poignée en
position centrale sur les tiroirs de grande largeur

* Empfohlene Befestigung: M5
Senkkopfschraube/Euro-Senkkopfschraube 6mm

 Nur Vertikalmontage

» Wir empfehlen bei breiten Schubladen die
Verwendung eines zentral angebrachten Ziehgriffs

reporter a nos plans 2D

Pour le kit daccessoires d'équerres, voir 635xx
Plage de fonctionnement: de 10 a 40°C
Pour les tolérances dimensionnelles, veuillez vous

* Winkelzubehdrsatz siehe 635xx
* Betriebsbereich 10°C - 40°C

* Bitte beachten Sie die 2D-CAD-Zeichnung wegen
Abmessungstoleranzen

09/13

Accuride reserve the right to alter specifications without notice | Accuride se réserve le droit de modifier les spécifications sans préavis | Technische Anderungen vorbehalten



035xX

« Platform bracket kit for « Kit d'équerres pour « Plattformwinkelsatz flr
5321/5321EC 5321/5321EC 5321/5321EC
* 4 bottom and 3 side mount » 4 options de montage sur plan » Montagemaoglichkeiten: 4 unten
options horizontal et 3 options de und 3 seitlich
montage sous platea
» Fixing hardware included 9 usp . « Befestigungselemente
« Livré avec visserie de montage Inbegriffen
374.0
16.0 352.0
320.0
288.0
256.0
160.0
279.0 146.0
16.0 256.0 84.5
224.0 525
192.0
DZ63530 £5E DZ63540 32.0
12.7) 1328, 180
T 12.7| T
b o ) PO S ——
@5.5 (x6)
@5.5 x 8.0 SLOT (x12)
RN N b )
g & b G <
¢ A A
470.0
16.0 448.0
416.0
384.0
320.0
224.0
192.0
172.0
160.0
32.0 K
DZ63550 120 g
127 | | | 63 5XX
A~¢ & ¢¢ ¢ & & &b ¢ & W
~ DZ63530 0.66
@5.5 x 8.0 SLOT (x27) DZ63540 0.89
DZ63550 1.12
440 oo —9  — DZ63560 1.37
o R A e A A
575.0
16.0 544.0
512.0
480.0
448.0
416.0
320.0
288.0
256.0
32.0
Dz63560 s '—j
& & & & & & & & & &
A% DA G A G S
@5.5 (x3)/
12.7 @5.5 x 8.0 SLOT (x27)
12.7
o & % & & bbb &
s & g g e I D S G <
A A S P @
Kit includes: Le kit comprend: Bausatz besteht aus:
2 x Winkel

2 x équerres

8/10/12 x boulons a téte fraisée, M5x10
8/10/12 x écrous, M5

8/10/12 x rondelles, M5

2 x brackets

8/10/12 x countersunk bolts, M5x10
8/10/12 x nuts, M5

8/10/12 x washers, M5

8/10/12 x Senkkopfschrauben, M5x10
8/10/12 x Muttern, M5
8/10/12 x Unterlegscheiben, M5

09/13

Accuride reserve the right to alter specifications without notice | Accuride se réserve le droit de modifier les spécifications sans préavis | Technische Anderungen vorbehalten



N

19.3 ‘

E X DZ635xx-1 *%

DZ635x2 &P

9.2
223 :I \ ' | E
2 DZ635% 2 —+ DZ635%¢1
6.2
® \
DZ635xx-2 DZ635xx-1
32.0
32.0
 DZ635xx-2 DZ635xx-1
DZ635xx-2 DZ635xx-1
32.0
32.0
DZ635xx 1 DZ635xx-2

Four bracket lengths can be used, either individually
or in combination, to cover all slide lengths. See
charts to determine number of bracket kits required.

On peut utiliser des équerres en quatre longueurs
différentes, soit individuellement soit en combinaison
pour convenir a toutes les longueurs de glissiére.
Pour déterminer le nombre de kits d'équerres requis,

voir le tableau.

DZ635xx-2 DZ635xx-1
320
231
DZ635xx-1 I DZ635%x-2
DZ635xx-1 14.7 DZ635xx-2
DZ635xx2 ! Dz635x1
DZ635%x-2 1.7 DZ635xx-1

Vier Winkellangen kénnen benutzt werden,
entweder individuell oder kombiniert, um séamtliche
Schienenléngen abzudecken. Zur Ermittlung der

Anzahl bendtigter Winkelbausaize siehe

nachstehende Tabelle.

5321/5321EC

DZ63530

DZ63540

DZ63550

DZ63560

DZ5321-0030

DZ5321-0035

DZ5321-0040

DZ5321-0045

DZ5321-0050

DZ5321-0055

— | —
NN

DZ5321-0060

DZ5321-0070-A

DZ5321-0080-A

DZ5321-0090-A

=N
N

DZ5321-0100-A

DZ5321-0110-A

=N =]
W[N]

DZ5321-0040EC

DZ5321-0045EC-A

— ] —
N[N 1

DZ5321-0050EC

DZ5321-0055EC

DZ5321-0060EC

RN Y N Y
NIN[IN|

DZ5321-0070EC-A

— -
NN

DZ5321-0080EC-A

DZ5321-0090EC-A

DZ5321-0100EC-A

DZ5321-0110EC-A

NIN|IN|
BB R

09/13

Accuride reserve the right to alter specifications without notice | Accuride se réserve le droit de modifier les spécifications sans préavis | Technische Anderungen vorbehalten




5321

300mm 350mm 400mm

[¢ 8¢ bzeasao 8 8 gm |[2 8¢ om0 g 2 g |m|[g8ozesa0 g 3229
[3 2o pz63s30 S S 2] om |[g 9¢ Dpzesz g g g] oM [333 DZ63540 22 SR q

450mm | 500mm |

\ |

[zzg DZ63540 22 N ] M [zzo Dz63550 93 2 S S 228 g |m
[228 DZ63540 oo 5 & © S] oM [228 DZ63550 oo o o 2 e o g |oMm
| 550mm |
[ |
[OOD o0 O o o o o C)l IM
oo o DZ63550 oo o o o o o o
[szg pz63s50 928 S s 23 ] oM
| 600mm |
\ \
(22 ozesseo O 2228 3 ™
[s S 22 32 22232 3] oM
| 700mm |
\ ’|
[sg DZ63560 e 2 3 22232]00 M
[sg DZ63560 SR 22232]°° oM
| 800mm
\
0O 00 oo o o o (o] 0 0O oo o o o (e IM
O 0O DZG354O oo o o o le/ O 0O DZG354O oo o o o le/
o oo oo o o o o ooo oo o o o ¢ oM
o oo DZ63540 oo o o o o ooo DZ63540 oo o o o d
| 900mm |
\ \
(522 preasa0 82 228 g[s32 om0 328 3 g 284 |m
EEE=NEEE 5 88 g[s38 omasa0 83 2223 |om
| 1000mm |
\ |
00 O oo O o o o o O| 00 O oo O o o o o O IM
oo o DZ63550 oo o o o o o o oo o DZ63550 oo o o o o o o
[zzg e GRNEG ] O[zzg D263550 332 S GRNCNG S,]OM
I 1100mm
-
00 O oo o o o o o o o o o o o o o o o o |M
oo o DZ63550 oo o o o o o o o o DZ63560 o o o o o o o o
[OOD oo o o o o o C)l [OOO oo o o o o o C)l (e} OM
oo o DZ63550 oo o o o o o o oo o DZ63550 oo o o o o o o

09/13

Accuride reserve the right to alter specifications without notice | Accuride se réserve le droit de modifier les spécifications sans préavis | Technische Anderungen vorbehalten

035xX

oM



635xX

* Customer supplies hardware to mount brackets to
base and/or platform/drawer

* Cold rolled steel
* Dimensions for reference only

M
oM

Side-Mount
Bottom-Mount
Inner member

Outer member

« Visserie pour monter les équerres sur la base
et/ou le plateaulle tiroir non fournie

* Acier laminé a froid

* Dimensions indiquées a titre de référence
seulement

(%}
Il

Sous plateau

Sur plan horizontal
IM = Brin intérieur

OM = Brin extérieur

* Kunde stellt Kleinteile zur Montage von Winkeln an

Basis und/oder Plattform/Lade

* Kaltgewalzter Stahl

* Abmessungen nur orientierungshalber gezeigt

wn
]

IM = Innenschiene
OM = AuBenschiene

Seitenmontage

Montage unten

09/13

Accuride reserve the right to alter specifications without notice | Accuride se réserve le droit de modifier les spécifications sans préavis | Technische Anderungen vorbehalten

5321EC
400mm 450mm
o]
(e}
[888 DZ63540 Cg 5 8 & ?10'“" [ggg DZ63540 2 29 e g] o IM
O
|28 pzessa0 g3 88 gom |22 presao 23 8884d gom
500mm 550mm
2 o
00 O oo O o o o o (=]
[ oo © DZ63550 oo o o o o o ol M [ gg g DZ63550 gg g g g g g gl g IM
O
1323'ﬂ“5“ 23 3 S S 3 gom [zzg DZ63550 22 9 S S q 5 oM
600mm 700mm
O (o}
¢ 2 presseo S 5888 slgm|[c 8 pmesse 22 228282 :
O O
o o o o [e] o o o o o
[zzg DZ63550 332 S e 9 E q %lom [o : DZ63560 5 8 3 e 59 5 O] 3
800mm
| ¢ 2 pzs3sa0 g3 288 d [sss omsa gg SR TY
[mwmmx gng[mmmmﬁ 25 2 Jom
900mm
[zzgg S SSpe3sa0S 2 2 q [:zgg S S22 pze3sa0s 2 S S M
ﬁmzzzmmmzzq hxzoz%mmzzsw
1000mm |
|
[zsgg S 9oDzE402 2 3 Q[zzgz S °2D7635402 2 2 O M
[:22 5 csomwsws 2 ¢ g ° (228 2 comssws 2 © iw
1100mm
|22§ DZ63550 oo o o = s & 4 o0 o oo o o Dz63550 o 5 5 & M
[s8 pzessso 335 8 B 5528 2 23omsa0s S g gom
Notes: Notes: Hinweise:

oM




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.3
  /CompressObjects /Off
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize false
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness false
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Remove
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages false
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages false
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages false
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck true
  /PDFX3Check false
  /PDFXCompliantPDFOnly true
  /PDFXNoTrimBoxError false
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (U.S. Web Coated \050SWOP\051 v2)
  /PDFXOutputConditionIdentifier (CGATS TR 001)
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<
    /CHS <>
    /CHT <>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA (Utilizzare queste impostazioni per creare documenti Adobe PDF che devono essere conformi o verificati in base a PDF/X-1a:2001, uno standard ISO per lo scambio di contenuto grafico. Per ulteriori informazioni sulla creazione di documenti PDF compatibili con PDF/X-1a, consultare la Guida dell'utente di Acrobat. I documenti PDF creati possono essere aperti con Acrobat e Adobe Reader 4.0 e versioni successive.)
    /JPN <>
    /KOR <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die moeten worden gecontroleerd of moeten voldoen aan PDF/X-1a:2001, een ISO-standaard voor het uitwisselen van grafische gegevens. Raadpleeg de gebruikershandleiding van Acrobat voor meer informatie over het maken van PDF-documenten die compatibel zijn met PDF/X-1a. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 4.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents that are to be checked or must conform to PDF/X-1a:2001, an ISO standard for graphic content exchange.  For more information on creating PDF/X-1a compliant PDF documents, please refer to the Acrobat User Guide.  Created PDF documents can be opened with Acrobat and Adobe Reader 4.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks true
      /AddPageInfo false
      /AddRegMarks true
      /BleedOffset [
        8.503940
        8.503940
        8.503940
        8.503940
      ]
      /ConvertColors /NoConversion
      /DestinationProfileName (U.S. Web Coated \(SWOP\) v2)
      /DestinationProfileSelector /UseName
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /HighResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MarksOffset 6
      /MarksWeight 0.250000
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /UseName
      /PageMarksFile /RomanDefault
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
    <<
      /AllowImageBreaks true
      /AllowTableBreaks true
      /ExpandPage false
      /HonorBaseURL true
      /HonorRolloverEffect false
      /IgnoreHTMLPageBreaks false
      /IncludeHeaderFooter false
      /MarginOffset [
        0
        0
        0
        0
      ]
      /MetadataAuthor ()
      /MetadataKeywords ()
      /MetadataSubject ()
      /MetadataTitle ()
      /MetricPageSize [
        0
        0
      ]
      /MetricUnit /inch
      /MobileCompatible 0
      /Namespace [
        (Adobe)
        (GoLive)
        (8.0)
      ]
      /OpenZoomToHTMLFontSize false
      /PageOrientation /Portrait
      /RemoveBackground false
      /ShrinkContent true
      /TreatColorsAs /MainMonitorColors
      /UseEmbeddedProfiles false
      /UseHTMLTitleAsMetadata true
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


